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101|R#A7 L 599 120 479 Kg |EE 1,944 486| %)l 3,240 864
102|357 L 2,079 2,079 Kg BIE 1,566 532
111|&EEF £ 275 275| Kg E)I| - &4 1,728 432
113|RAV S 27 27| Kg K% 2,700 1,944
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356|L LA 45 451 Kg SR 1,080 810
3577/~ E 38 38 Kg FEE 1,944 878
362| & 376 4 372 Kg |RHW 1,512 & 3,024 522
4025 E 10 10| Kg FAN 5,292 5,184
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AEHA LY 25 25| Kg 2P 1,194
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X A AE 130 130] Kg JbiF 1,050 450
iyl 39 39| Kg F 1,296 972
AR Z 670 670 Kg 2yl 4,150 980
AR 350 350 Kg F 3,024 2,524
BRI 100 100 Kg JbiF 1,000 980
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704\ LETF 448 448 Kg PN 1,944 1,512
710(2 2 AT 335 335 Kg =4 1,375 826
BlEFAI L 19 19 Kg EE 1,145 640
755|FH&» C 218 218 Kg EE 710 529
56| £ T 29 291 Kg Ko 1,080
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